
SAP ABAP table RNTPKCH_AGEX {IS-H CH: Zuo Leistungsstamm Schweiz  => Alter mit X-Feld}

RNTPKCH_AGEX

MANDT [CLNT (3)]

EINRI [CHAR (4)]

TARIF [CHAR (2)]

TALST [CHAR (10)]

OPERAND [CHAR (2)]

AGE_ALTER [NUMC (8)]

EINHEIT [CHAR (2)]

BEGDT [DATS (8)]

NTPK

MANDT [CLNT (3)]

EINRI [CHAR (4)]

TARIF [CHAR (2)]

TALST [CHAR (10)]

 RNTPKCH_AGEX-TALST = NTPK-TALST 0..N

1

T000

MANDT [CLNT (3)]
 RNTPKCH_AGEX-MANDT = T000-MANDT 

0..N

1
TN01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

 RNTPKCH_AGEX-EINRI = TN01-EINRI 

0..N

1

TNK01

MANDT [CLNT (3)]

EINRI [CHAR (4)]

KATID [CHAR (2)]

 RNTPKCH_AGEX-TARIF = TNK01-KATID 

0..N

1


